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GENERAL ABILITY TEST
10.05.2015 (1°T SHIFT) (14 POSTS OF ALC)

1.
Which one of the following explanations is indicated by the term ‘welfare’ as a total concept?
(@) Itis a desirable state of existence involving physical, mental, moral and emotional well-being
(b) It is the welfare of man, his family and community
(c) Itis contingent upon time and space
(d) It demands certain minimum acceptable conditions of existence, biologically and socially

AFATITEd # & i & Teh TISESOT qUT HehoUedl o & H ‘o0 s A ST g
g2
(a) T 31Tdca H T aBAT a2 § 9w aliRe |, Af@e, Afas 3R gaencas
TARLY AMHT §
(b) IE ST, 38 IRARX AR THET &I FHeAI0T §
(c) I FIdT AR fEFeUT W Hacifad g
(d) TE Sifas &9 & IR F&ATSR T &, 3fecdcd N HIATT ~gAdH Tl em3it Hr
38T T &

2.
‘Atonement’ and ‘Investment’ are two co-equal aspects of which one of the following labour welfare
theory?

(@) The Philanthropic theory

(b) The Placating theory

(c) The Public Relations theory

(d) The Religious theory

srafREd 3R faer Arafaf@a & @ 7 o sa-Feanr fga & & A uge] 82
(a) RIIwRT B{gia
(b) STET g
(c) STA-TIh Tagid
(d) enfdie Regia

3.
The first Factories Act for India was enacted in the year:
(a) 1948
(b) 1881
(c) 1911
(d) 1891

AT & v ugar sREEr JfRfEad g av & yREaf@Ea o m=ar 2

(a) 1948
(b) 1881
(c) 1911
(d) 1891




Downl oaded from http://iasexanportal .con

4,
Which one of the following statements with regard to the provision for ‘Welfare Officer’ is NOT
correct?
(@) This provision is given in the Factories Act 1948
(b) This provision, in case of Mines and Plantations, is given in the central rules of these two Acts
but not in the main Acts
(c) For factories and plantations this provision is applicable when 500 or more workers are
employed
(d) In mines this provision is made applicable when 500 or more workers are employed

‘FedT0T TURRY & 396Y & R H Hediolidd & I Sl AT Teh HUT Tgl Adl 87
(a) TE 39 HREEAT JA™AATT 1948 & fear aar §
(b) @ 3R ST o A & Ig 3UaY 3 al JAAITAT & heg Hgar 7 fear
(c) HRETET AR FETME! & fv Ig 39 9 o] § o 500 AT 3HA 31Teh HHAdR
[GRUECE]
(d) @&t & foIv Ig 39eY a9 o9 fohdm 91 § 59 500 A1 38H S FHAGR
[GRUECE]

5.
Which one of the following is NOT a ‘welfare measure’ under the Factories Act 19487
(@) Drinking water
(b) Créches
(c) First aid
(d) Canteen

PRETAT AT 1948 & 3fie, Aeafof@d 7 & T T1 T ‘FeAUHRTI 39T’ A8 872
(a) 9T STl
(b) RIS (5her)
(c) JTAafHe 3ITIR
(d) STrI=T-3TE (HTeA)

6.
Under the provisions of the Maternity Benefit Act 1961, what is the amount of medical bonus paid?
(a) Rs. 1,000
(b) Rs. 2,500
(c) Rs. 3,000
(d) Rs. 3,500
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wfa ggfaer fafaes 1961 & et el fiov S arel Rifshcar siaw v afer = &2
(a) %. 1,000
(b) %. 2,500
(c) %. 3,000
(d) %. 3,500

7.
Under the Maternity Benefit Act 1961, what is the minimum number of days a woman employee must
have worked under an employer in the twelve months preceding the date of expected delivery for
becoming eligible for maternity benefit?

(@) 90 days

(b) 80 days

(c) 180 days

(d) 240 days

wgicr Srgiatn A 1961 & 37efieT, fonell Ao Hararlt S Jgfar Sgiaem w1 91T g
& foT g waa &1 aE & qaadt aNE Aol & fhdT dierar & 3T ~geraA
fohcel feett deh R T el glelT 3HTaRTH § 2

(a) 90 =T

(b) 80 =T

(c) 180 fe=T

(d) 240 fe=T

8.
Under the provisions of the Employees’ Compensation Act 1923, what will be the amount of
compensation payable to an employee suffering from permanent total disability with his monthly
salary drawn Rs. 15,800 and the relevant factor 181.37?

(@) Rs. 7,75,376

(b) Rs. 5,40,000

(c) Rs. 8,70,576

(d) Rs. 1,40,000

FHANT Sfdet ARAHIA 1923 & 3uael & 37efsr TART quT 3Rrerddr & aed e
FHHART &, foraer Afde 3ERT ad= $. 15,800 3R Frd 3ulelA 181.37 &, ¢ Ufaet &
TfRY fohrcdetr grefr?

(a) %.7,75,376

(b) ¥. 5,40,000

(c) T. 8,70,576

(d) ¥. 1,40,000



Downl oaded from http://iasexanportal .con

9.
Who among the following is NOT a dependent under the provisions of the Employees’ Compensation
Act 1923?

(@) A widower

(b) An adult widowed sister

(c) A parent other than a widowed mother

(d) A widowed daughter —in — law

@ 7 @ #i, S gfdex 3RHEH 1923 & 3ueul & 3ehe nfaa a8t &2
(a) @IS fatR
(b) IS TITH faear st
(c) faerar AT & 37elmar HIg AT AT AT
(d) @IS faerar gaae]

10.
Who among the following is the ex-officio Chairman of the Medical Benefit Council constituted under
the Employees’ Insurance Act 1948?

(@) The Director General, Health Services, Government of India

(b) The Medical Commissioner of the Employees State Insurance Corporation

(c) The Director General, Employees State Insurance Corporation

(d) Chairman, Medical Council of India

fArafaf@a # @ i, FFrarly AT ARfagd 1948 & 3l aifsa RfFcar Raemr aRwg
T Yool ITEUET § ?

(a) FIfACIF, TARLY TAT, YR TPR

(b) AR T AT Ao 1 Rfehear 3mged

(c) FgIfACRIF, FATRT Tog AT o

(d) 3reeT, IR 3T aRwe,

11.
Under the provisions of the Maternity Benefits Act 1961, every women employee after delivery of a
child who returns to duty is to be provided with nursing breaks till the child attains the age of:

(@) Twelve months

(b) Fifteen months

(c) Ten months

(d) Eighteen months
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s ggfaur AfafEas 1961 & 3uayl & 3T | frdll Ry & 999 & 3R FH |
clleat arell gX AR Feaily A 37 RY Y et a7 g Sl e IR=AT raehrer (AT
Sh) el fhar ST Heham ?

() IRE A

(b) UcE A

(c) a8 HAH

(d) 3T6RE HAH

12.
Which one of the following statements about industrial relations is NOT correct?
(@) Industrial relations have to be managed in the interest of maintaining a viable collaborative
structure
(b) Formulation of rules by consensus and their implementation are core to industrial relations
(c) The pluralistic framework looks employee participation in industrial relations from a
disintegrative perspective
(d) The radicalists consider industrial relations in a distributive sense

e Ferawl & aR A fArafaf@d # & Sl a1 vk FUAT T 78t § 2
(a) 3R FFal FI cTTET TEINMcHAS T §AT0 IW & 7 # gafrd fomar
ST YT &
(b) 3T T ¥ fgA-faAtor 3R 3@ Feaa e geaut & 7o §
(c) SEATEY grar A S FFEh H FATRI-FEHNAT 1 [Feeicns TRIeT F @ar
e
(d) 3mHer IREdAaTEr A ANw Frael 1 AR TeRumeAs 3T 7 #:a §

13.
Which one of the following is NOT a logic of industrial relations?
(@) The logic of conflict
(b) The logic of competition
(c) The logic of industrial peace
(d) The logic of employment — income protection

fafaf@a & ¥ a9 ar e, iefee geeyr &1 a® a8 & 2
(a) Gded HI dh
(b) FfdETeT &1 dh
(c) e enifa &1 a&h
(d) ISTA-3TT EI&TOT HT doh
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14,
What is a “Wild — Cat’ strike?
(@) Strike called by the workers with the support of union with notice to the employer
(b) Strike called by a group of workers on the spur of the moment without any formal notice to the
employer and consent from the union
(c) Strike called by the union without resorting to strike ballot
(d) Strike called by non-unionised workers, even if notice is given to the employer

3O (d15e8 ) §Sdldl FAT § 2
(a) FHHRT @R TAGTFAT T AT S HE (IATT) & FHIT § HT a5 g5l
(b) FHHRT & Trell HAg carT , fodlerar & MoaRes Foer 6U o= 3 @ &
TAYS T AT doeprel T 18 g3dTel
(c) €Y EaRT, g3dT-Adgled I 39T fhu foar &1 a5 gsdra
(d) FoIeT FHFRT FT TG FET &, 3% GaRT T T § 3T, T &1 AFar g &
IS B
15.

Which one of the following is a ‘jurisdictional strike’?
(@) Two unions claiming the office space conduct strike
(b) Two unions conduct strike for registration with the same name
(c) Two unions may claim to represent the same set of workers and may clamour for recognition
on this claim and go for a strike to pressurize the management
(d) Two unions claiming possession of a common seal go for strike to elicit the support of workers

fArfaf@d & & &l & &, HACRT gsdrel’ § ?
(3) FRATAT-TATT T &1aT Flel alel af T STl I ©
(b) T & AT & G0l & AT aF T gl Fld &
(c) T HY Ueh Bl HHBR-HHG Hl FidTticd el T grar A 3N $H ad dH AT
& foT BRAE N 3R JaUaT W gald 3Teled & [T §3dTel HL
(d) & He Teh {9 HeT WX sheel T AT A §UWRTHHH%&HWW$
IGIEEGIGEG T

16.
What is “yellow dog contract’?
(@) A contract where a union agrees to inform the employer about the possible strike by a rival
union
(b) When Management secures an agreement from the workman that he will not join a union
during the course of his employment
(c) An unwritten contract with the employer, where a faction of the union acts as a ‘whistle
blower’
(d) The employer promotes a pocket union by entering into an agreement with the trade union
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‘BTl & el & T (Tell 1T Plogere) AT § 2
() T 3Iaer STl 1S H, fondll yiceded! @9 @Rl T S arel HaMfad § Sarel &
IR H HAerar @ giad #a & v JgAd glar &
(b) STET Jaere FHER T T§ IR ARG H of b g8 @aIetT & @ & cRrer forah
g # A A& g
(c) ToerdT & @y Teh AW 31qeer, ST61 HG o1 Teh I[c A@NL H AG HH B
(d) faerar ¢85 gATeT & Y AR T Teh Sl JE Hl GGl &

17.
The Institution of Voluntary Arbitration as a method of settling industrial disputes was strongly
favoured by:

(@) Gulzari Lal Nanda

(b) VV Giri

(c) Lala Lajpat Rai

(d) Mahatma Gandhi

e fFamer & fAves f wgfa & &0 7 tRew fQars dwar (FRegge 3w
gieiedl 3Tfaeere) & fhaer SIRGR T#AY fohar a1 ?

(2) AT AT ey

(b) dr & AR

(C) ©Tell offaldd TT

(d) FTHAT ey

18.
The Industrial Disputes Bill 1947 observed that ‘industrial peace will be most enduring where it is
founded on voluntary settlement’. Which one of the following machineries under the Industrial
Disputes Act 1947 was created for this purpose?

(@) Works Committee

(b) Board of Conciliation

(c) Court of Enquiry

(d) Labour Court

e faae fadae 1947 7 Ig 9aror fomam T 3ileaifie enfa agt aaifgs §9 & i
@ Siel I8 (eoe Auer W 3muiRa & 1 3icaf@s fQarg sifRfaaa 1047 & 3l
frfaf@a # @ 9 @1 e 97 38 wdiea & fov gioa e amr ar 2

(a) F FfAfY

(b) GeTg Hsel

(c) ST =ATATT

(d) 57 =T
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19.
In India, which one of the following systems prevails in respect of adjudication in industrial disputes?

(@) Voluntary reference and voluntary acceptance of the award

(b) Voluntary reference but compulsory acceptance of the award

(c) Compulsory reference but voluntary acceptance of the award

(d) Discretionary reference and compulsory acceptance of the award

TRa &, ReAfef@a d @ Fi9 & vF cyaeer enfPie [aer & sfRfava & v &
3ifosmar g2

() AT 1 Ao fAder 3R Mo wefa

(b) 3fRfATTT 1 Weme fAde fhd sfaard wdipfa

(c) Ao &1 ARy Wéer g tees wdpia

(d) AU 7 faaerelier foder 3R ifeary et

20.
In India which one of the following bodies was created particularly to focus on social and labour issues
arising out of economic reforms in 1991?

(@) Joint Consultation Board

(b) National Apex Body

(c) Special Tripartite Committee

(d) Standing Labour Committee

AR A faf@d & & @i @1 ve @hrg 1991 # 3T Gurt & wigd gl arel
AT R AAS Jel W @AY &9 § & &4 @ Fioia fohar o

(a) FFATIT WAL 15

(b) & MY e

(c) v Buefy afafa

(d) TArY s @fAfa

21.
Which one of the following was NOT recommended by the Second National Commission on Labour?
(@) Labour Management Relations Law consolidating the relevant laws be enacted
(b) “Go Slow’ and “Work to Rule’ be regarded as misconducts
(c) “Strike Ballot’ for public utility services
(d) All the three methods of union recognition namely Membership verification, Secret Ballot, and
Check-Off be the basis for choosing a bargaining agent



Downl oaded from http://iasexanportal .con

farfaf@a 7 & o v & ey oo fawas gfada T¢I 3T gart @ & 715
dqr ?
(a) ForeT fafeat & FAfhd FXd g HfAs gdue ey ffYy sffaafag & sme
(b) ‘e e 3N ATAGTHAR 1A T eIk AT ST
(c) STeT-39ETT Jar3ft & forv ‘gsdrer Ade
(d) §E AFAT S T Al agfaal | AAd:, FeEIaT HeA9eT , I[ed HAclald , AR wer
shelcll fohdl Hierh 3Tffshcll &l Yool o fAT MR &

22.
The view that people can learn through observation and direct experience is associated with which one
of the following theories of learning?

(@) Social learning

(b) Operant conditioning

(¢) Reinforcement

(d) Classical conditioning

Ig EfSCahIr o ofleT YaToT 3R el 36037d & ATEdH & 819 ¥ohd ¢, fAeiai@d # 4
fra e 1M Rgia ¥ g § 2

(a) AT T

(b) TRATIET JTgereret

(c) GeTeetat

(d) FeITrART FeTaerat

23.
Employees’ belief in the degree to which they affect their work environment, their competence, the
meaningfulness of their job and their perceived autonomy in their work indicates:

(@) Organisational commitment

(b) Psychological empowerment

(c) Affective commitment

(d) Job satisfaction

HHAART I ST GRAA , 3OAT &THAT, 39 Y &l IJAOTar AR 39T w1 H 9=
JeIield TaR—IcddT & 38 A a6 gdifad e 7 faeara #a § |, ag a1 sfig &
g7

() TITSATCHS FTATGc

(b) HAATA AT TRIFATHIOT

(c) HTaTcHS gfaegd

(d) FF TdY
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24.
The tendency of individuals to attribute their own success to internal factors and put the blame for
failures on external factors indicates:

(@) Fundamental attribution error

(b) Self-serving bias

(c) Selective perception

(d) Contrast effects

fFaat AT 3Tl TIIH HT THIAT T AT HdRS HRP P T AR T W
SIET SRl Y A A ggfcd FAT AT I g ?

() F[eF O FfE

(b) HTcATHRY AfRATT

(c) TIATcHSD YcTaToT

(d) d5FT gHE

25.
Intuitive decision making means:
(a) a non-conscious process created out of distilled experience.
(b) making decisions by constructing simplified models without capturing complexity.
(c) behaving in such a way so as to maximize output.
(d) developing alternatives consciously.

A UATcAS O T &1 dread & ?
() TG 3MHa-SHfAd Irdcdel Ffshar
(b)mmmmwmﬁmamgcﬁw
(c) 3T YR cHAER AT Toh 3c41G ATehds &
(d) FIdaRT & Tasmeul & Ah@d & .

26.
A group, whose efforts result in performance that is greater than the sum of the individual inputs, is
called:

(a) Work Group.

(b) Work Team.

(c) Virtual Team.

(d) Self-managed Group.

T UET §Hg, [ Al & GRUTAEIET gl drell fasdies  dafaden fafafsear & amr
FT 3796 31T I, FAT Fgolidl § ?

(a) T HHE

(b) T gof

(C) HTHTAT ol

(d) F-vETeT HHE
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27.
The concept that a subordinate should have only one superior to whom he or she is directly
responsible is known as:

(@) Span of control.

(b) Unity of command.

(c) Chain of command.

(d) Authority control.

Ig ThodalT foh fhaY 3T FT hdel Tah &1 aRSS glaT ey fo g ufa ag drer
3caRer™dT g, FIT Fgdldl & ?

(a) =0T fawqfa

(b) THTCRT TehdT

() HATCR el

(d) IR fag=oT

28.
Which one of the following appraisal methods combines the benefits of narratives, critical incidents
and quantified scales by assigning scale points with specific examples of good or poor performance?
(@) Forced distribution
(b) Alternation ranking
(c) Behaviourally anchored rating scale
(d) Graphic rating scale

fAmfaf@d & @ il & v Hegien vefd &, e, @Avigs gq@ait AR s a1 R
fsaresT & faRise 3emeoit & &Y A 3 HURT FXd gu aRAToT A9 & omer
Qi & ?

(a) STt faaRor

(b) fareusT Sofraor

(c) saasrIfAa (fNegfaatelr U+s) uRoT ATgeT

(d) 3Terdr (Ifther) fAUROT ATYST

29.
Which one of the following demographic characteristics reflects surface-level diversity?
(a) Differences in value
(b) Ethnicity
(c) Personality
(d) Work preferences
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ffaf@a & O FiT I1 T FAifhhT FeTor Ty TR 1 JFfgerar gfar § 2
(@) T H AN
(b) FSATHIAT
(c) SgfFdca
(d) T AT

30.
A ‘SMART’ mnemomic criterion is used in:
(@) Selection process.
(b) Job rotation.
(c) Performance management.
(d) Compensation management.

‘SMART’ TFRUT-5leteh fAehy fohedl ggerd glam & ?
(a) TIT YfshaT
(b) T 3TaddA
(c) faAsuree gt
ORIGETRELD]

31.
Outplacement is the process of:
(@) removal of employees from the job.
(b) transferring the employee out of the country.
(¢) helping redundant employees to find new job.
(d) sending the employee on deputation to other organizations.

e TUTT (3T3ccaddie) fohaent ufhar g 2
(a) P T FHATRAT T fTShrEsT
(b) FHTART FI ¢ F TE TATATTRT AT
(C) 3TATITF FHATRAT T AT FRT UIod Fed H FEIAT ol
(d) FEERT T 3T Tl A Ffafagida w Asm=n

32.
The principles of natural justice have emanated from:
(@) religious doctrines.
(b) constitutional law.
(c) common law.
(d) social norms.
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At =y & faeid fhad fAwaRkd guE ?
(a) enfdie fagia
(b) Eifaenfae fafer
(c) fAvTaer R_fY (FEa o)
O R IGUSERIGREIGH

33.
If an aggrieved employee is NOT satisfied with the proceedings of the enquiry, he may ask for:
(@) ‘ex-parte’ enquiry.
(b) “de-novo’ enquiry.
(c) legal enquiry.
(d) domestic enquiry.

Iie ®IS AT SN Sia AT SR @ G @@t §, of 96 HeAfaiad # 4 g
TF F U 3T & FET § 2

(a) THUeTT ST

(b) AT B T ST

(c) af=s =

(d) 3RS AT

34.
In case of disciplinary action, the principles of natural justice have given rise to which one of the
following procedural safeguards?

(@) Charge-sheet

(b) Punishment without enquiry

(c) Disproportionate punishment

(d) First information report

IS A & AFS H |, A\EE Fad & Agar @ Hefaf@a 7 @ #la @ e
gfchar-gatly IQNIT §a1 § 2

(a) IRIT-IF

(b) fS=Tr ST & &3

(c) 3teuriaieh &3

(d) w2 sfeger RaE

35.
‘Audi alteram partem’ is associated with:
(@) Strikes.
(b) Disciplinary action.
(c) Trade Union.
(d) Closure.
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GEX UeT @l o e (TS ey ueH) fhad deg ¢ ?
(a) &Sdel
(b) 3FTRTHTR HREATS
(c) &5 T
(d) §& (FelloR)

36.
Under the provisions of the Trade Union Act 1926, what is the maximum time period for which the
members of the executive and other office bearers of a trade union shall be elected?

(@) One year

(b) Two years

(c) Four years

(d) Three years

¢35 ATl Ve 1926 & UGl & e , TRl ¢35 JiATeT & wRIUTeh 3R 3+ dg-ary
fordelr 31feas FaaEfy & for @afaa ger 2

(a) T ay

(b) ar a¥

(c) IR ay

(d) T av

37.
Under the provisions of the Trade Union Act 1926, what is the minimum amount of subscription that
can be fixed for the members of a trade union of rural workers?

(@) Three rupees per annum

(b) One rupee per month

(c) One rupee per annum

(d) Six rupees per annum

¢S FfATeT Ve 1926 & 3UHl & T , AHUT FHBRT & ¢35 Ao & Fo&dl & o
G¢ &1 fardelt Sgeras Ui Fad & a1 whdr § 2

(a) deT FUT arf¥e

(b) T TGAT ATRAH

(c) Toh JUAT AT¥

(d) B8 ¥UT A
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38.
Under the provisions of the Trade Union Act 1926, ordinarily what is the minimum age a person
should have attained to become a member of a registered trade union?

(a) Fourteen years

(b) Fifteen years

(c) Sixteen years

(d) Eighteen years

<3 gfATeT e 1926 & IS & IFEfA, Golihd ¢35 JfATA FT Ferg g & v ardA=—
dR R ol cafed &1 fohclell =geTaa 3 8 T glelt =gy 2

(a) dlcg av

(b) Usg a¥

(c) Grelg a¥

(d) 3B6RE a¥
39.
Under the provisions of the Trade Union Act 1926, what is the minimum number of members engaged
in the establishment as workmen required for registration of a trade union?

(@) Seven

(b) One hundred

(c) Ten percent of the total employees
(d) Twenty one

¢35 gfgeT tare 1926 & 33Ul & 3releT , fhell ¢35 IfAdeT & Gellevor & T , HFaRT &
Wﬁﬁ@?ﬂﬂﬂﬁﬂﬁymﬁmriﬂdﬂ g&ar 3afaa § 2

(a) |1d

(b) T &t

(c) FeT FHAARET T &H yfcwrd

(d) SR

40.
Which one of the following can be considered a precursor of the Trade Union Movement in India?
(@) Ahmedabad Textile Labour Association
(b) Madras Labour Union
(c) Bombay Millhands’ Association
(d) Kamgar Hitbardhak Sabha

fArfaf@d # & ra w1, 9Rd 7 ¢35 AT Hialeled 1 GAIHA AT ST Hevell § 2
(a) 3TEHGIEIG cHFICISA olaX TAMTATAT
(b) HETE AT g
(c) diFs fAcgsy ATt
(d) FETR fRaedes Tar
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41,
Which one of the following is the correct sequence of establishment of trade union federations in India
starting with the earliest?

(@) INTUC, HMS, AITUC, CITU, BMS

(b) AITUC, INTUC, HMS, BMS, CITU

(c) AITUC, INTUC, BMS, CITU, HMS

(d) INTUC, AITUC, BMS, HMS, CITU

fFrfafed & @ #la @1 ', #RA A ¢35 YA IREATT HT TG F , HeIdH F YF

I §U, Tl A & ?
(a) INTUC, HMS, AITUC, CITU, BMS
(b) AITUC, INTUC, HMS, BMS, CITU
(c) AITUC, INTUC, BMS, CITU, HMS
(d) INTUC, AITUC, BMS, HMS, CITU

42,
Who among the following was the first President of the All India Trade Union Congress?
(a) Mahatma Gandhi
(b) N M Joshi
(c) Netaji Subhas Chandra Bose
(d) Lala Lajpat Rai

AT & @ @i, 3ol 3AT ¢85 JATA HIF &I TUH ey AT ?
(a) HETcHT el
(b) TeT we el
(c) AT AT TG A
(d) STl otad 1T

43.
Which one of the following statements with regard to the Council of Indian Employers (CIE) is NOT
true?
(@) It was formed in the year 1956
(b) It unified the All India Organisation of Employers (AIOE) and the Employers Federation of
India (EFI)
(c) The Standing Conference on Public Enterprises has not joined the CIE
(d) The AIOE and EFI still retain their identity while sending equal number of representatives to
the CIE
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R fAderar aRwe (FEfae 3% 3f3ae wecaray) (CIE) & IR & Sedfaf@ad & &
BT AT Th HUA TEl Tl g ?
(a) I§ dY 1956 H AT AT
(b) 38 TR ARAT fAANFAT HaraaT (3T Sf3AT TTASALT 3iTH Teeaiad) ( AIOE)
IR 9ARAT fAaiFar oAy (vecaray heere 3% 3f33m) (EFI) FT vdheor fhar
(c) ¥ieh 3cTH & TS Tedae (fg TET Hiehid AT gl TeuizaioT) CIE#®
%rriﬁara'ﬁgm
(d) AIOE 3R EFlHﬁaﬁmmﬁwg%ma CIE H §HT §&aT #
giafafer dea §

44,
Under the provisions of the Industrial Disputes Act 1947, the average pay for a monthly paid workman
means the average of the:
(a) wages payable in six completed calendar months preceding the date on which the average pay
becomes payable.
(b) wages payable in three completed calendar months preceding the date on which the average
pay becomes payable.
(c) wages payable in four completed calendar months preceding the date on which the average pay
becomes payable.
(d) wages payable in twelve completed calendar months preceding the date on which the average
pay becomes payable.

e Ao AfRafaga 1947 & 3uadl & 3tha |, AfAE AdT 9Ied X @ FABR &
AEa adT & F7 AT § ?
(a) T alr@ 1 3Ed adT ¢F &, 3H Ydadt ©g o7 FHeist A H 3T dde
(@sieT) ST 3rad
(b) T alr@ 1 3Ed ddT dF &, 3HA Ydadr el qUT FelsT A H 3T I
(@sieT) ST 3rad
(c) T alr@ 1 A ddT dT &, 3HY qaddl IR qUT FelsY A FH 3T dcfeT
(@sieT) T 3rad
(d) fore i@ 1 3 ad 3T &, 389 Yddd aRg qUT Hhelst AT H 4T I
(@sieT) T 3rad

45,
What is the time period within which the Grievance Redressal Committee constituted under the
provisions of the Industrial Disputes Act 1947 is to complete its proceedings on receipt of a written
application by or on behalf of the aggrieved party?

(@) 15 days

(b) 21 days

(c) 30 days

(d) 45 days
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e faarg wfRafaad 1947 & 3usel & 3l afsa RIkd f@aror afafa &, <afaa
9aThR aRT AT 3HH 3N & fAf@d 3mdeeT Ied gl W fohclell FAIATET & 37T 9=l
FHIEATET quT AT a2

(a) 15 fe=T

(b) 21 feaT

(c) 30 feaT

(d) 45 &=t

46.
Which one of the following statements as per the Industrial Disputes Act 1947 is NOT correct?
(@) Court of Inquiry is constituted by the appropriate Government
(b) Conciliation officers for conciliating industrial disputes in Central Government Public Sector
Undertakings are appointed by the Central Government
(c) The National Tribunal is constituted by both the Central Government and State Governments
(d) A Board of Conciliation consists of a Chairman and two or four Members, as the appropriate
Government thinks fit

e faare sfafAas 1947 & IqaR Aefaf@a & @i a1 v wya &€ adf § 2
(a) ST =ATTerg FHTIT TN @RI Tfdd fohar Sirem §
(b) ey THN & HGoITieh &1 & 3UshaAl & i fqarel W Folg = & faw
gorg AR s TAR a1 fAgesd fFr o g
(c) ITSET FATT, hg, THR IR ST TWHRT &l & gaRT IS fhaT 1T &
(d) Golg IRwe, 37egeT 3R el 3rydr IR Fe&dl &, ST fo aaRd WmeR S+ a# e,
fAe X geIar &

47,
Under the provisions of the Industrial Disputes Act 1947, what is the time period within which the
appropriate Government has to publish the award of a Labour Court, Industrial Tribunal and National
Tribunal from the date of receipt of the same?

(@) Thirty days

(b) Sixty days

(c) Ninety days

(d) Forty five days
e faare afafFAgsw 1947 & 3ueent & el |, ARG WEHR A RS ~AGGT
e sfteor 3R I ifeor & sfafavy & 38% grcd g & al@ |
e FHAIE™ & HdX JhIfRIT LT 8idT & ?

(a) e Tt

(b) G5 A

(c) Tea feaT

(d) darei feet
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48.
Under the provisions of the Industrial Disputes Act 1947, which one of the following is considered to
be retrenchment?
(@) Voluntary retirement of a workman
(b) Termination of services of a workman, otherwise than as punishment inflicted by way of
disciplinary action
(c) Termination of service of workman on the ground of ill health
(d) Termination of service of a workman as a result of non-renewal of contract of employment
between the employer and workman concerned on its expiry

e Ao sfRfaga 1947 & 3uddl & 3 |, Arafaf@d & @ fFaear St A
ST g ?
(a) FrE HAPR T T Qarfagicd
(b) 3T HRaTg & @RI U T &5 o ferar FhET HABR I Gl H FATT
(c) TR TAELY & IMUR W HAT FHABR HI JAT HI AT
(d) e AR R HARR & & Agfed S dfder & FATd gl Sl I 3
STIRIOT o glel o IRUTHAEIRT FHABR I AdT HI TATIA

49,
Under the provisions of the Industrial Disputes Act 1947, what is the time period within which if no
communication has been received by an employer in response to his application to the appropriate
Government for retrenchment of workmen, then it will be deemed that permission for retrenchment
has been granted?

(@) Ninety days

(b) Forty five days

(c) Thirty days

(d) Sixty days

e RQarg sfaFge 1947 & suset & 3efie, ag et TaaEfd § Sas o afy
TR @ 3Hh @R FHRIT THR & fhU 7T e & g Sl IIod 761 8iell ©
dr I Al form sean fo Sl & fow egafa vere w & a8 § 2

(a) sTsd f&aT

(b) Sareirer fea

(c) I et

(d) I35 et

50.
The term ‘Protected Workmen’ is defined in:
(@) Trade Union Act 1926.
(b) Industrial Disputes Act 1947.
(c) Contract Labour (Regulation and Abolition) Act 1970.
(d) Building and Other Construction Workers (Regulation of Employment and Conditions of
Service) Act 1996.



Downl oaded from http://iasexanportal .con

AT FAPR’ e fohasT aRenia forar mr § 2
(a) ¢35 FfATT Ve 1926
(b) 3w faarg sfafaga 1947
(c) o1 ##7 (Rfagae 3R 3caes) sfRfETs 1970
(d) 87T 3R 3T TieaAT FASR (AT dur Jar-erd fafaaes) g 1996

51.
Which one of the following statements explains that a strike is legal under the provisions of the
Industrial Disputes Act 19477
(@) A strike declared in consequence of an illegal lock-out
(b) A strike declared during the pendency of conciliation proceedings before a Board and seven
days after the conclusion of such proceedings
(c) A strike declared during any period in which a settlement or award is in operation in respect of
any matter covered by the settlement or award
(d) A strike declared during pendency of proceedings before a Labour Court or Tribunal and two
months after the conclusion of such proceedings

i@ 7 & i I T YA Ig TEAT FT ¢ o e faarg siffeaas 1947
& 39« o e PS5 g3diel ARATT § 2
(a) fordr 31 aremedr & IRUTHTIRT 9T gsdre
(b) Tt SIS & UTH Forg HIAAIRET & oidd el & el AR Tl wRiariedr & Ao
& A Gl & a1 aif¥d gsdrol
(c) foreT off O 3af & e, s #Is IREYURET a1 ATy 39 aRkfauRor ar
fafATT & AT e gt R AT F SR F v H g, 9N gsdra
(d) BT S ST a1 ARAROT & I HRIARAT & dfad BT & e 3R ol
FRAIeAl & AU & ar A & 9 9T gsdre

52.
The provisions of the Payment of Wages Act 1936 shall be made applicable to an employed person
drawing a monthly wages NOT exceeding:

(a) Rs. 18,000

(b) Rs. 10,000

(c) Rs. 12,000

(d) Rs. 15,000

Aolell e AfAfagd 1936 & 3uaer fhdel @ 3ifts ATfAS AoQY 3meRd &t &l arel
e cafed & oy v ardar 2

(a) ¥. 18,000

(b) ¥. 10,000

(c) . 12,000

(d) ¥. 15,000
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53.
Under the provisions of the Payment of Wages Act 1936, the total amount of fine that may be imposed
in any one wage period on any employed person shall NOT exceed an amount equal to:

(@) Four per cent of wages

(b) Five per cent of wages

(c) Three per cent of wages

(d) Six per cent of wages

Aolell Herg Jfafagd 1936 & Ul & eheT, fhdl Ao sgfdd @ fonddl wer Horglr
HTATETS 7 S[AT T FHol TR Fhdl & R TR I 310w &t goh 2

(a) FSTGYT T AR iAAA

(b) AT T Wi gfARrd

(c) HSTGYT &l citeT wicerd

(d) Fldy 1 BF Ffderd

54,
Under the provisions of the Payment of Wages Act 1936, NO fine shall be imposed on any employed
person who is under the age of:

(a) Fifteen years.

(b) Sixteen years.

(c) Seventeen years.

(d) Eighteen years.

Aol Herd AfAfATH 1936 & 3uael & Irefet, fohdell Mg & & & fFdr AT cafea
W A FA AT gt v sirwem ?

() U5E a¥

(b) Hrelg a¥

(c) g ay

(d) 373RE av

55.
Under the provisions of the Payment of Wages Act 1936, fine imposed on any employed person can
NOT be recovered after expiry of how many days from the day it was imposed?

(@) One hundred days

(b) Ninety days

(¢) One hundred and twenty days

(d) One hundred and eighty days
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Aol Herd HAfIA 1936 & 39ael & 3o, fordll ol safed W fow al@
dIS SHETT AT fohar a=r a1 |, 368 fhcel feat T At & SIg a8 AT a¥fd
gl fohar ST Fehar ?

(a) T & T

(b) Tea st

(c) T @ 97 o=

(d) Tk &t e G

56.
Under the provisions of the Minimum Wages Act 1948, which one of the following is a component of
‘Wages’?

(@) Value of house accommodation

(b) Value of medical attendance

(c) Travelling allowance

(d) House rent allowance

ATH Holgll ARHIH 1948 & 3ueell & eled, RAefaf@a # @ i a1 wh, ‘Asigldr
FT Uch g ?

() € ATE-GIAET FHT Fed

(b) Rfercei et &1 7o

(c) IMET Acdr

(d) FFIT AT Hear

57.
What is the extent of representation of independent persons in the Committees and Sub-Committees
constituted under the provisions of the Minimum Wages Act 1948?

(@) One- half of the total members

(b) One-fourth of the total members

(¢) One-third of the total members

(d) Two-thirds of the total members

A Aol AfAfATA 1948 & 3uatdl & el arfed wfAfaat i suafafaat & wad
afFaat & wfafafcg & dar Far g 2

() Fel TeHdT & 3T

(b) FeT HEEAT & UH-TUS

(c) e HeEd & Un-fagrs

(d) TeT TeET & ar-foigrs
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58.
Under the provisions of the Minimum Wages Act 1948, which one of the following bodies is
appointed by the appropriate Government for the purpose of coordinating the works of the Committees
and Sub-Committees and for advising the appropriate Government in matters of fixing and revising
minimum wages?

(@) State Advisory Council

(b) Advisory Board

(c) State Monitoring Authority

(d) State Advisory and Monitoring Board

eAdH Aoley FAATA 1948 & 3uael & el , wiAfaat 3 swafafaat & st #
THAT & YAl & AR Add AqRAT & f@gdel 3R e & AFct d Fffd
WHR F F§ ool & v AATAGIA @ FleT A1 v Awg TgRIT AR c@rr
forgera fram e #2

(a) 7T ollgspR IRvE

(b) HegHR &I

(c) TSI ITHAUT TIRRIOT (T ANMACRIT 3HATREN)

(d) ToT WellGhR TaH 3HeI4a0T §1S (¥ Vsarseory Us HifdeRar as)

59.
Under the provisions of the Minimum Wages Act 1948, who among the following can NOT be
appointed as the Authority by the appropriate Government to hear and decide any claims arising out of
payment of less wages than the minimum rates of wage?

(@) Labour Commissioner of a State Government

(b) Regional Labour Commissioner (Central)

(¢) Commissioner for Workmen’s Compensation

(d) Assistant Labour Commissioner (Central)

SgATH Aol HRHTA 1948 & Iustl & e |, Welai@d & & dhieT , Holgdl
TTH & & A HlQ & HAF & Bolea®y 36+ ald gl &l Fofol 3R A0fiar et
e ISR & &9 # FHRT TAR Rl @ged agh fhar S dehdr?

() frelY ToT WHR FT AT AFFd

(b) &V S IGF (H1)

(c) FAPR FfAHT gt

(d) IS A3 G (F41)

60.
Under the provisions of the Contract Labour (Regulation and Abolition) Act 1970, how many
members may be nominated by the Central Government while constituting the Central Advisory
Board?

(@) Not exceeding seventeen but not less than eleven

(b) Not exceeding fifteen but not less than ten

(c) Not exceeding twenty but not less than fifteen

(d) Not exceeding twelve but not less than seven
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ST HH7 (R 3R 3caea) 3RPAIT 1970 & 3uael & 3T |, FET FAEHR a8
ST A HAT HET PR @RI fohclel HeEdr &t AATACSe fhar 51 Fehar & 2

(a) T8 § 3HT0h g1, fohd T9RE & FA AL

(b) Ueg & e 7, fohg &/ @ FA G0

(c) I & & L, foh Yog & HA LT

(d) IRE & 3t @), fohg a1 @ Fa 80
61.
Under the provisions of the Contract Labour (Regulation and Abolition) Act 1970, a contractor has to
provide and maintain a canteen wherein ordinarily a minimum of:

(@) 50 contract workers are employed by a contractor

(b) 100 contract workers are employed by a contractor

(c) 20 contract workers are employed by a contractor

(d) 70 contract workers are employed by a contractor

Sar 47 (fafamaa 3R 3cares) s3fRfETs 1970 & 3uawi & e, fFer SheR & T
FET YT HLAT 3R 3FRT IW@IWIT FIT 8T § I IgT ATURUITAT FH F HH

(2) SHhER EART 50 ST HTAS g 6T ST §

(b) ShER EaRT 100 ST HiHS fgerd fhu o 8

(c) ShER EaRT 20 ST HiAh fgerd fhu o 8

(d) SheR EaRT 70 ST HiAS fAgerd fhv o 8

62.
Which one of the following provisions is NOT covered under the Contract Labour (Regulation and
Abolition) Act 1970?

(@) Sufficient supply of wholesome drinking water

(b) Rest rooms

(c) First aid facilities

(d) Creches

fFefaf@a & & 39 a1 ve gaue, & 47 (Afagaa 3k scaes) sffEas 1970 &
T gt 31ar ?

(a) TAELIYCE YTl T qATTd qfcd

(b) Tasme ey

(c) Iruffeh 3TUR giaurd

(d) fRver-we=t
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63.
Under the provisions of the Contract Labour (Regulation and Abolition) Act 1970, which one of the
following statements is true relating to the appointment of the Chairman of the State Advisory Board?
(@) The Chairman is to be appointed by the State Government
(b) The Labour Commissioner of the State shall be the ex-officio Chairman
(c) The Chairman is to be appointed by the State Government in consultation with the Central
Government
(d) Labour Minister of the State shall be the ex-officio Chairman

a1 47 (fafagaa 3R 3cares) sffETs 1970 & 3uawi & 3refe, Feafaf@a & @ a9
T U HYT AT HAGhR 1S & Iege] H AgFa & qaur & a7 ¢ 2

() 3TETLT I AT WHR AIFT FIAT &

(b) TS T A IMYF TeeT TETLT G

() 3TETET AT he TN & WHAY T T WhR fAgerd il §

(d) TST FT HF7 HAT Ul 37EFeT gam

64.
Under the provisions of the Child Labour (Prohibition and Regulation) Act 1986, the Child Labour
Technical Advisory Committee consists of a Chairman and such other members NOT exceeding:

(@) Five

(b) Ten

(c) Fifteen

(d) Twenty

dreieh 47 (Ffavy 3R Afagde) afaas 1986 & 3uaHl & el |, STl 4H deheilen!
TelghR AT, 31egeT 3R fhder & 3=l Tceal & Aol X Soldr § ?

ORIE]

(b) &

(c) 9e®

(d) s g

65.
Under the provisions of the Child Labour (Prohibition and Regulation) Act 1986, the list of
occupations in which children are prohibited to be employed is provided in :

(@) Part B of the Schedule under the Act

(b) Section 4 of the Act

(c) Section 6 of the Act

(d) Part A of the Schedule under the Act
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arefeh HH (FTavyr 3R fafaase) afafaasd 1986 & 3uatl & el 3o cgaardr S =
S soat & FafSa s Aftg g, e rag g 2

() IfOfATH & 3refeT e T 79T B

(b) 3RRTH T 4T 4

(c) 3rfafazsT & arr 6

(d) JffATH & T g T &TIT A

66.
Which one of the following is to be constituted under the provisions of the Child Labour (Prohibition
and Regulation) Act 19867

(@) Child Labour Advisory Board

(b) Child Labour Technical Advisory Committee

(c) Child Labour Regulating Machinery

(d) Child Labour Regulating Advisory Board

e A3 (Ffavy iR fafeges) fafags 1986 & 3uayl & 3tfid eafaf@a & @ &g
Teh & IS [hIAT AT BT 87

(a) SToleh S TollghR &1

(b) STeTeh S deheilehl HATGPR HATATA

CEIGEI GRCIG R R FIGE

(d) STereh 47 ATHT ToghR a5

67.
Which one of the following statements is NOT correct under the provisions of the Child Labour
(Prohibition and Regulation) Act 19867

(@) No child shall be permitted to work between 7 pm and 8 am

(b) The total period of work including interval for rest shall not spread over more than six hours

(c) A child may be permitted to work overtime maximum for two hours in a day

(d) No child shall work for more than three hours before he has had an interval for rest for at least

one hour

grereh 47 (Ifavy 3R [Afagde) mafaas 1986 & 3u«tl & 3t Aeafaf@ad J & @i
qT Th YA Ter Al ¢ ?
(a)maﬂwﬁm7ﬁ§a€8aﬁ$éﬁ€rmwﬁﬁaﬂmFl'g?'ra’l?ﬁ
(b) FsmT & 3Tl FAA FoT F T HATT o ©el A rafr F FEF el
(c) TRE aTeleh 1 foeT & Jif8hcd e "el & fav THAAR SR kel i e gref
d) FIS Y ITdF , FH T FH T G T OHH &7 3R v foar , AT gef &
318 FH 8T HWIM
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68.
Under the provisions of the Payment of Gratuity Act 1972, an employer is liable to pay the amount of
gratuity within:

(@) 15 days.

(b) 30 days.

(c) 45 days.

(d) 60 days.

3y Herg fafagsd 1972 & 3uedl & 3rtfe |, Fs AAeFar e e & iR 3ue
ST TR FT TeT A & v gt § 2

(a) 15 feaT

(b) 30 f&=T

(c) 45 &=t

(d) 60 f&=T

69.
Under the provisions of the Payment of Gratuity Act 1972, what is the maximum amount of gratuity
payable?
(@) Rs. 3,50,000
(b) Rs. 7,50,000
(c) Rs. 10,00,000
(d) Rs. 5,00,000
39cI Herd AAfATa 1972 & 3ueHl & 3, @¢T 3uereT Fr AfFad Ty F=ar § 2
(a) %. 3,50,000
(b) %. 7,50,000
(c) ¥.10,00,000

(d) ¥. 5,00,000

70.
Under the provisions of the Payment of Gratuity Act 1972, who among the following is NOT part of
the “family’ of a male employee?

(@) His children whether married or unmarried

(b) Children of his predeceased daughter

(c) His dependent parents

(d) Dependent parents of his wife

39 e Ifufagd 1972 & 3uatl & el | AT A @ @i v |, fhdly g
FHART & ‘GRAR’ FHT ART FAGE § ?

(@) 38% =, T} a9 faarfea & ar sfqafRa

(b) 3EH ga-Hd T & T

(c) 3Tk AT ATAT-Taar

(d) 3H Tt & AT Arar-far
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71.
Under the provisions of the Payment of Gratuity Act 1972, what is the minimum period of service an
employee must have served to make him eligible for gratuity on his retirement or resignation?

(@) Ten years

(b) Five years

(c) Seven years

(d) Six years
3Yere ey Ifufagd 1972 & 3ustl & 3efeT, fhdr Saarl & 3o Hgicd ar e
W 3YCTe T GTT §lel o foIU fohclell #geTad 31afer T Har &I gleil AT ?

(a) &F aW

(b) 9rr Ay

(c) ITdT ay

(d) B a¥

72.
Under the provisions of the Building and Other Construction Workers (Regulation of Employment and
Conditions of Service) Act 1996, employment of how many female construction workers make it
mandatory for providing créche facilities?

(@) More than twenty

(b) More than thirty

(c) More than forty

(d) More than fifty

s1ad 3R 377 FleaATor FAeR (IS aur dar-ad [Afaaae) sffaas 1996 &
3uetll & efeT | fohctell Afgem AfewHor SFAwRT & gl & Ry-Heet grawnsit & vers
AT 3TATIh Bl & ?

(a) T & 3fs

(b) E ¥ A+

(c) AT & A+

(d) TarE & 3ifas

73.
Which one of the following is NOT a statutory provision under the Building and Other Construction
Workers (Regulation of Employment and Conditions of Service) Act 19967

(@) Drinking water

(b) Accommodation

(c) Latrines and urinals

(d) Rest rooms and lunch rooms
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319 3R 3T Tieamr FaeR (RAee dar dar-era fafazea) fafaeT 1996 & 3t
fAifaf@a & & Fia ar v a@ifafs graen 7@ g 2

(a) 9T el

(b) arg-gfaem

(c) itaTery 3R AT

(d) TI=ma-eT 3R HioTA-heT

74.
Under the provisions of the Building and Other Construction Workers (Regulation of Employment and
Conditions of Service) Act 1996, the employer of an establishment has to appoint a Safety Officer if
there are:

(@) five hundred or more building workers.

(b) two hundred and fifty or more building workers.

(c) three hundred or more building workers.

(d) one hundred or more building workers.

s1ad 3R 377 FleaATor FAeR (FIe aur dar-ad [Afaase) sffaas 1996 &
3uaHt & J7leT, fohell TUTOAT & AT o FRT-3USRT H gfea aen sfaay g
afg I8t -

(a) gt G a1 39T e HaT FAPR &

(b) & & T I1 3T AR HIA HHAPK o

(c) =T gt a1 3\ 3™F 9 FHAPR §

(d) T & a1 388 e HaT FHAPR &

75.
Under the provisions of the Building and Other Construction Workers (Regulation of Employment and
Conditions of Service) Act 1996, a building worker who has been registered as a beneficiary can
contribute to the Fund created under the Act till he attains the age of:

(@) Sixty two years.

(b) Sixty years.

(c) Fifty eight years.

(d) Sixty five years.

519 3R 3= gleaaTor FaeR (FIea aur dar-ad [_fagae) sffEgs 1996 &
3uetll & 3efieT , for #ael HHAFR T BAw{ & ®9 # Golihd far a3 § 98 39
yfafags & srefer gioa @A & Rl 3y &1 gl deh 3iMele T Fohl 8 ?

(a) ITHS a¥

(b) I Ay

(c) 3TgTaeT a¥

(d) ¥us ay
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76.
Under the Fundamental Rights in the Constitution of India, Right to religion is NOT restricted by:
(@) Public order.
(b) Morality.
(c) Health.
(d) To acquire and administer property.

HRA & HiGUeT # HoT AR & 3T, a3 &1 fUaR fFas ganr Adfed @@t ghar 2
(a) Sh-cTaTAT
(b) HeR
(c) EaET
(d) Fufea &1 3teieT 3R gemEsT

77.
Right to Privacy is an implied Fundamental Right traceable to:
(@) Right to Equality.
(b) Right Against Exploitation.
(c) Right to Freedom of Religion.
(d) Right to Life and Personal Liberty.

THIAT HT IRR fhad R@oiy v fdafard (sFcarss) gor AR & 2
(a) FHAT T 3TARR
(b) eNVOT & Ta%g AR
(c) g T TIdAAT & FER
(d) 9ToT 3R Gfgeh FTATAT I HTUSR

78.
Who appoints the Judges of High Court of a State?
(@) The Chief Justice of the Supreme Court
(b) The President of India
(c) The Governor of the concerned State
(d) The Prime Minister of India

el T & 3T AR & TRt # Hgfad wled wdr g 2
(2) STUTH AT T HET ~AGH
(b) AR T ISgafT
(c) FaIg T &I AT
(d) TR T TeeT FHHY




Downl oaded from http://iasexanportal .con

79.
The Concurrent List to the Constitution of India was first introduced by:
(@) The Government of India Act, 1919
(b) The Government of India Act, 1935
(c) The Constitution of India, 1950
(d) The Indian Independence Act, 1947

HRA & A & FHACA gdl 1 ggell IR fhash @RT quEaiad fhar arr ?
(a) ART PR AT, 1919
(b) ART TR 3T, 1935
(c) AR T AfaeTeT, 1950
(d) AR Fadaar Afafag#, 1947

80.
The Constituent Assembly which drafted the Constitution of India was set up under the:
(a) Joint Resolution of Provincial Legislatures and Princely States, 1946.
(b) Cabinet Mission Plan, 1946.
(c) Indian Independence Act, 1947.
(d) Mountbatten Plan, 1947.

59 A @ o IRT & 9 & YT 91T, ag fohgeh 3t sumfa & as o 2
(2) I faemsT Asal 3R AR NIl HT I Hehod, 1946
(b) e AT T, 1946
(c) R Fadadr 3ifafaas, 1947

(d) AT3cTs TolleT, 1947

81.
The Proclamation, under Article 356 of the Constitution of India, imposing President’s Rule in a State,
has to be approved by resolutions of both Houses of Parliament before the expiration of:

(@) Six months.

(b) Six weeks.

(c) Two months.

(d) Two weeks.

ot o & Tegufd 1 A FRAVAT A arell |, 9RA & A & 3w 356 &
3efieT T IS 3EEVOT Fi fohdelt 3af T FACT & ugel HAG & alal Heall & Hehodl
CaRT AN T ST 3Tavash § 2

() ©F A

(b) ©g ATdg

(c) ar ATH

(d) &r geaTg
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82.
The President of India has the power to nominate two members to the Lok Sabha from:
(@) Scheduled castes and Scheduled tribes.
(b) Other backward classes.
(c) persons of eminence category.
(d) Anglo-Indian community.

HRA & TscUfd &l ollch T & ToIT |, Tohetdl & G AcEal &l ATH-TASRIT &t Fr ofeda
g7

(a) 3T Sfd 3R Iggfad Shrenfd

(b) 3T TUos T

(c) fafdrse Fife & afeFa

(d) TS-RAT HHer T

83.
Which one of the following Constitutional Amendments accorded position of primacy to Directive

Principles of State Policy over Fundamental Rights?

(@) Sixteenth Amendment

(b) Twenty Fifth Amendment
(c) Forty Second Amendment
(d) Forty Fourth Amendment

fArafafaa aifdufas gaat & & 7 o o T $r Aoifa & e dedl @ 7o
AUPRT R JHGAT HT T erol fhar 2

(a) Trergal GeMET

(b) TdrEar FATLT

(c) ST AT T

(d) TiaTeiraar T

84.
Avrticles 155-156 of the Constitution of India deal with:
(@) Inter-State Commerce Commission.
(b) Election Commission.
(c) Inter-State Council.
(d) The power of President to appoint and dismiss State Governors.

HRA & AU & qede 155-156 fhad Ty 3@ § ?
(a) IRV OIS 3TN
(b) fSaTaeT 3marer
(c) ARSI IRV
(d) TeT & TsguTell &l fAged 3R geegd el Hr Tegufa @ afdd




Downl oaded from http://iasexanportal .con

85.
The President of India has been empowered to return a Bill, as soon as possible, on presentation to him
after its having been passed by the Houses of Parliament for assent, except in the case of:

(@) Ordinary Bill

(b) Money Bill

(c) Ordinance

(d) Statute

AR &I Tegafd fRdl [a9aes & St T§He, & Heal qarT aIikd Y f&ar arar § 319+
THeT IATT & AT g FhT S & geard FUriy dies & fav Fererd fhar @ g
o a9 &, 39 J8 :

(a) @AY AOIH @

(b) =T TA9TH &

(c) TS &l

(d) T 8T

86.
Which one of the following is NOT covered under the Seventy Third Amendment of the Constitution
of India?

(@) Provision for the State Finance Commission

(b) Reservation of seats for Scheduled Castes, Scheduled Tribes and Women

(c) Provision for the State Planning Commission

(d) Provision for the State Election Commission

feIfaf@d & & P9 a1 T, IR & TAUT & AgcaRd TMUA & A AgH 37T ?
(a) 7T Acd 3AET & folw 3gesr
(b) 3T Sfaat, eqgfad Serenfaat 3R Afgenst & fov TUw= S 3mRefor
(c) TSI ST AT & fow 3gey
(d) I=g gt 3T & forw 3uey

87.
The Seventh Schedule of the Constitution of India contains:
(@) Salaries of the President and Vice-President.
(b) Tribal areas, Scheduled areas.
(c) Union List, State List and Concurrent List.
(d) Languages.

HRA & HAYTT $T ATdl TG & 41 3idfase g ?
(a) Irsgafd 3R 3wrSgufa & adeT
(b) ST &, ITgad &
(c) Ta T, ToT gl 3R FHadT I
(d) HTSTT
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88.
Who among the following is the ex-officio Chairman of the Council of States?
(@) President
(b) Vice President
(c) Prime Minister
(d) Deputy Speaker of Lok Sabha

farfaf@a & & 39, o7 T F1 9T FHET § 2
(a) Trsgafa
(b) 3uRrSgufa
() TYTeT FHAT
(d) Stk THAT T 3UTETET

89.
Which one of the following Articles of the Constitution of India empowers the Parliament to create
one or more All India Services?

(@) Article 300

(b) Article 304

(c) Article 301

(d) Article 312 (1)

AR & AU &1 Aefafld & & i @ 3efede @8, A T a1 3ifes 3if@e
HRAT a3t & Folel & [T GAFT T § 2

() 37T=Se 300

(b) 37Tee 304

(c) 3regese 301

(d) 3reTeese 312 (1)

90.
How many members are nominated by the President to the Rajya Sabha?
(@ 14
(b) 20
(c) 12
(d) 15

Tsguid GaRT AT HHT o Tohclsl TaEd ATH-AERIT fhT S § 2
(@) 14
(b) 20
(c) 12
(d) 15
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91.
The One Hundred and Sixth Constitutional Amendment Bill relates to:
(@) Tribal Governance
(b) Co-operative Societies
(¢) Amendment of Article 311
(d) Office of Profit

Te O oor gfaure gy [9us haa gefaa § 2
(a) STeToTlTdl QT
(b) FgsRT HraATSfeAT
(c) 3Tede 311 &1 HAMer
(d) SITST & U

92.
Which one of the following statements correctly describes the Fourth Schedule of the Constitution of
India?

(@) It contains the scheme of the distribution of powers between the Union and the States

(b) It contains the languages listed in the Constitution

(c) It contains the provisions regarding the administration of tribal areas

(d) It allocates seats in the Council of States

A& & & T A1 Teh Ul HRA & FlaUreT & =il 3eqgeh &1 Fe1 aoiel i
g7

(a) 39 ¥g 3R T=AT & S ofeFdal & AaRoT Hr guTelr idfase §

(b) 38 Giaurs # Fheag AT 3ididse §

(c) SHH STTollid &1 & YATH & aR H 3YaY 3Fdiase &

(d) Ig TSI T@HT H TAEAT HT ATEeT Fal &

93.
Adjudication of disputes relating to the inter-state river water are made by:
(@) Union Parliament.
(b) High Courts of affected States.
(c) Supreme Court of India.
(d) Tribunals set up by the Union Government.

HRIAST ¢ STl el arer &1~ - sl wear § 2
(a) EHE
(b) THITAT I=AT & 3T AT
(c) AR &l 3TUdH ATl

(d) HG 6 TSR GaRT Afdd 3faHIor
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94.
The Reports of the State Public Service Commissions are presented annually to the:

(a) President of India directly to be laid before each House of Parliament.

(b) respective Governors of States, who then forward the Reports to the Government of India.
(c) respective Governors who then forward the Reports to the State Legislatures concerned.
(d) respective Committees of State Legislatures.

Usd oieh Gar el & iddesd Tiday fehae! SEdd fhu S § 2
(a) MY AR & Tsguld &l HHG & IAF Hed H W I & [T
(b) TSAT & HYA-3191 JSTTTAl BT, ST d« T Ulddgal Pl HRT AR Hl AT
ETC i
(C) 3UA-319at ASIUTAl I , S dd 3o Yfddeail ol Fafad AT U Aell &r
IR w<a §
(d) T=T AT Al $r 9eAT-319ar GiAfaar

95.
Which one of the following is NOT correct with regard to Article 243 ZD of the Constitution of India?

(@) In every State at the district level, there shall be a District Planning Committee to prepare a

draft development plan for the district
(b) The draft development plan must have regard to matters of common interest between the

Panchayats and the Municipalities in the district
(c) The Legislature of a State may make provision for the composition of the District Planning

Committee
(d) The development plans are forwarded to the State Planning Commissions for mandatory

consideration

HRA & AU & 3efeoe 243ZD % aR # AeAfaf@d & & ST @1 v Fer 77gh ¢ 2
(a) I3 T H el TR R, T & fov v A I IRvg IR & & oo
s oo Arerar afafa el
(b) T AT 9T # el &7 gargar 3R TR-Tifa3il & @ ey {d & vt
FT €T H (@M SATAT JTETH §
(c) T &1 faureT Aser Ser dieter afafa Fr T@er it e 3999 FT Goham
(d) AE JSFATT TsT JNSTAT AN & 3TA9S IR & e 3@®a & Jdr &

96.
In 1947, India had municipal corporations at:
(a) Madras, Calcutta and Delhi
(b) Lucknow, Calcutta and Bombay
(c) Madras, Calcutta and Bombay
(d) Lucknow, Calcutta and Madras
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1947 § 9Rd H FAIR I Fgl-pal & ?
(a) FGTH, Solehedl AR ool
(b) TTGAS, FelehedT IR TFas
(c) FGTH, Shelehed! IR TFas
(d) TG, FelshedT 3R AT

97.

Which one of the following is NOT an objective of Non-Aligned Movement?
(a) Establishment of world peace

(b) To contribute to the game of power politics

(c) Removal of racial discrimination

(d) To play arole in the process of decolonization of the slave countries

fAmfaf@d & @ il @1 v, IefaRver e #1327 gt § 2
(a) faeg enfa &hr FUMg=AT

(b) TedT T IoAId & Wol H Teh glell

(c) TSIl AGHTT & AT

(d) FETH SR &, 3UAIAM F FFA gled 1 Ifsham F sffAwr fosira

98.
According to Article 107 of the Constitution of India, in matters of Ordinary Legislation:
(@) Lok Sabha has been given more powers.
(b) Rajya Sabha has been given more powers.
(c) Speaker of Lok Sabha has been given more powers.
(d) Both the Houses have been given equal powers.

AR & AU & e 107 & 36AR AT AU & fawar &
(a) @eh |HT T UETHd HTeF AfFadr &Y 75 §
(b) TS |HT 1 3HAeTHd HfF AfFaar & 7 §
(c) Tl | 3TEALT T 3T 3w afeaar & 78 §
(d) ST TeaAt A AT ATFIAT & TS §

99.
The members of the Union Council of Ministers are collectively responsible to:
(a) Rajya Sabha.
(b) Lok Sabha.
(c) President.
(d) Both Lok Sabha and Rajya Sabha.
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g & AfF-aRvg & geer wefed ¥ @ s 9fd Scaver § 2
(a) T AT
(b) o T
(c) Trsgafa
(d) oveh T 3R TST TAT greAr

100.
Which one of the following festivals is celebrated every year in Ladakh in the month of February?
(@) Labrang
(b) Dosmoche
(c) Saga Dawa
(d) Zamling Chisang

Jdeh a¥ B & HAeled & o5 H Hid T g’ JAR™T Sar § 2
(a) oT&eT
(b) SreraATRY
(c) | grar
(d) ST IamT

101.
In February 2015, India signed a bilateral agreement on civil nuclear cooperation with:
(a) Bangladesh
(b) Nepal
(c) Sri Lanka
(d) Bhutan

AT 2015 # HRd o fFas ary 3dfas AIfRFT Fgaer favgs gfagshla ik W)
gEATER fhU ?

(a) STATCRT

(b) qTer

OEIGE

(d) eereT

102.
What is “Vanaj 2015°?
(@) International ayurvedic conference hosted by India
(b) National tribal festival held recently in Delhi
(c) A dance festival of Telangana
(d) Guerilla warfare exercise held recently between Border Security Force and Bangladesh Rifles
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‘FeTol 2015° FIT § ?
(a) R T AT & AT IFRASET I fesh et
(b) BT &7 H ool H Yool USEIT FASAT HBIcHd
(C) TR T Teh 3[cd Helcqd
(d) HHAT GIET ool 3R ST1eer AShed & o gl & & HYeol DIIHAR JE-33T1H

103.
The “Thirty Fifth National Games of India 2015” was held in:
(@) Karnataka
(b) Kerala
(c) West Bengal
(d) Assam

2015ﬁam?ra?ﬁ‘?ﬁﬂérr®w@aar€fm?r§vﬁ?
(a) Feilceh
(b) e
(c) ITRTH 9T
(d) 318H
104.
Who among the following is the Fiftieth recipient of the Jnanpith Award?
(a) Bhalachandra Nemade
(b) U R Ananthamurthy

(c) Kedarnath Singh
(d) Pratibha Ray

fFrfafed & @ il gawal Aede RERR dredshd § 2
(a) HTerdg AATS
(b) T 3R AL
(c) PR &g
OEIGE ]

105.
Who among the following is the winner of the Australian Open Men’s Single Tennis Tournament
(2015)?

(@) Roger Federer

(b) Novak Djokovic

(c) Andy Murray

(d) Simone Boleli
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frfaf@d & @ $ia, Efeas 3 @Y vahd (Feq aren) faq gamie (2015) &1
faorar & 2

(a) s HsW

(b) AT FNHITAT

(c) §3r M

(d) Fa#AT drerelr

106.
Mr. M can drive from Rampur to Sitapur by two alternative roads in same time. Road I is 20 km
longer than road I, but is in a good condition and he can drive at a constant normal speed. Road Il is
in bad condition and he has to drive at a speed of 20 km/hr slower. After road Il is repaired, how long
will it take him at normal speed?

(@) Less than 1 hour

(b) More than 1 hour

(c) Exactly 1 hour

(d) Cannot be ascertained from the given information

A TH AR F WA e dhicdsh T SH-ARN F SR Toll FX FA FHI & S Gl ¢ |
gsh-1, Fsh-1l & 20 km 3ifereh ooel &, Toh] Ig 3red & & § 3R 9 50 W &g
A ATl ¥ N Tl Fohd gl HSeh-11 T EAT T § f54@ W 3o¢ 3H9&THha 20 kmihr
fIHT Il § PR T gl T5h-11 FT FAFAT & I & 96 FHAGT I § SR dolled T
3¢ Tohdell HHI 9T 2

(a) 1 ¢ & A

(b) 1 &¢ & 31&H

(c) & 1 "er

(d) & I FIAT F AT FAST HAT ST FehT

107.
R was born when his father A was 27 years old. A’s brother is of same age as of R’s mother. R
married on his mother’s fiftieth birthday. A is three years older than his brother. How old was R on his
marriage day?

(@) 28 years

(b) 26 years

(c) 27 years

(d) 25 years
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Rwamaagmmaamﬁmmﬁrmﬂaﬁaﬁraﬁ|A$341§£r31q3?|?ﬁé’r%
fSdelt R & AT 7 | R 39eT ATAT & UIEd SiedAfed & ag frar | A 3os #7118 @
1T a¥ §37T & | R&T 37 30% faarg & feo fopcer of 2

(a) 28 a¥

(b) 26 a§

(c) 27 a¥

(d) 25 a¥

108.
Which one of the following is the next entry in the series ZY X, WUS, TON,......... ?
(a) QMI
(b) QNH
(c) PLG
(d) RNK

i@ & & &l A o, Fuft ZYX, WUS, TON,......... #H 3mTel yiafse & 2
(@ QMI
(b) ONH
(c) PLG
(d) RNK

109.
Which one of the following is the next entry in the series 987, 000, 123,....... ?
(a) 654
(b) 000
(c) 246
(d) 243

Aafaf@a & @ =ia @ ve, Aol 987, 000, 123,....... H 3rarelr wiafse g2
(@) 654
(b) 000
(c) 246
(d) 243
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110.
A printer numbers the pages of a book starting with 1 and uses 3189 digits in all. How many pages
does the book have?

(a) 1069
(b) 1071
(c) 1074
(d) 1075

T Hgh fohel T & ool & A 1 & IR AT & AR Fel AT FT 3189 3iehl
I G AT § | 9&dh H fhdl gva ¢ 2

(a) 1069

(b) 1071

(c) 1074
(d) 1075

111.
In a certain code language ‘123’ means ‘bright little boy’, *145” means ‘tall big boy’ and ‘637° means
‘beautiful little flower’. Which one the following digits in that language imply ‘bright’?

@ 2

(b) 3

(c) 4

(d) 6

fordll fATRTT e AT H 123’ 1 3 ‘AT BIeT dleleh” §, ‘145’ &M Y “oFaT 37 dToleh’ §
3R 637’ T I eI T TSI’ § |37 A F fAeATIi@d # § fhE U 3 @ Aread
‘a2

(@ 2

(b) 3

(c) 4

(d) 6
112.
Find out odd one out from the following:

(@) Circle

(b) Ellipse

(c) Parabola

(d) Sphere

farafaf@d # Fia a1 e, 3177 & Fea § 2
(a) e
(b) Ereged
(c) WdelT
(d) e
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113.
If P is twice of Q, Q is thrice of R, R is four times of S and S is equal to 2, what is P?
(@) 24
(b) 48
(c) 32
(d) 64

Iie P AT & Q &I, Q T=lal=ll & R &I, RURIAT § S & iR SaaR § 2 &, dl P & 2
(@) 24
(b) 48
(c) 32
(d) 64

114.
The ratio of areas of circles inscribed and circumscribed of an equilateral triangle is:
@1:2
(b)1:3
(c)1l:4
(d)1:9

MW@%&H%&d{mﬁTqﬁ%«%mwwwm%?
@ 1:2
(b) 1:3
(c1:4
@ 1:9

115.
A man invests Rs. 100 for 3 years at the compound interest rate of 4% per annum for the first year and
5% per annum for the second and third years. How much money will he get after 3 years?

(@) Rs. 114.00

(b) Rs. 114.66

(c) Rs. 114.20

(d) Rs. 114.40

IS i 38T & foIT &. 100 & fder, Tger a¥ & AT 4% aTf¥er Wwehalg sqe & W,
3R @y aur W ¥ & fAT 5% aTf¥sh =ehgfg sarel eX W ST & | 3 a¥ & are 39
el ¥T AR 2

(a) %.114.00

(b) &. 114.66

(c) %.114.20

(d) &. 114.40
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116.
Distance from point A to point B is 20 km. A person is driving a car at the rate of 40 km per hour.
Each wheel of the car is rotated 10,000 times by the time it reaches from point A to point B. If the
person drives the car at the rate of 60 km per hour, then to reach from point A to point B, each wheel
of the car rotates:

(@) 10,000 times

(b) 15,000 times

(c) 25,000 times

(d) 40,000 times

Tl A® Tl B T gl 20km & | s e 40 km 9id 8¢ T Oer § SR ol @I & |
T AW U B dh gD A Yodeh UfRAT 10,000 SN YU AT § | A IF AT 60
km 9faEe & I ¥ R TT , df TIT A T TIJ B quuﬁﬁuc&dnmﬁﬁ?ﬁ
SR gUTeT T ?

(a) 10,000 X

(b) 15,000 X

(c) 25,000 X

(d) 40,000 X

117.
A cube of the side 4 cm is painted on all 6 faces with the same colour. It is then broken up into smaller
cubes, each of side 1 cm. What is the proportion of the number of cubes with no paint to the number of
cubes with exactly one face painted and to those with exactly two sides painted?

@1:2:3

(b)3:6:8

(c)1:3:4

(d1:3:3

el 4 cm ST ATl U ol & T ©F Belhl P AT TT & WM AT § | I« 38
39eTh BIC Tall & Y 3 feam a1 r a7 ycdsh oo & o 1em B | f9ar g T are
eIl I T&IT HI, Eh-0lh Ueh Weldh U 9T dlel Hall hl T&AT T 3R Sh-8h al Telehr
O LT dlel Gl T FE&AT & AT 3T ¢ 2

@ 1:2:3

(b)3:6:8

(c)1:3:4

(d1:3:3

118.
Three of the following are alike in a certain way and so form a group. Which one does NOT belong to
that group?

(@) Needle

(b) Nail

(c) Pin

(d) Hammer



Downl oaded from http://iasexanportal .con

fArfaf@d & & de 5 ARTd &9 & tH-aAT § | ST &1 Uk 39 FHg H H1 - AGl
&7

(@) g3

(b) hrer

(c) e

(d) gefisT

1109.
In a certain code RAINBOW is coded as “XPCOJBS’. What is the code of RINGLET?
(a) LETRING
(b) UFMFMJS
(c) UFMHQJS
(d) TELGNIR

fordt AT e A RAINBOW @I ‘XPCOJBS’ &9 # Hheag fhadm a/dm & | RINGLET & %e
FAT § ?

(a) LETRING

(b) UFMFMJS

() UFMHOJS
(d) TELGNIR

120.
The probability of happening an event can never be:
@1
(b) 0.5
()0
d) -1

Afaf@a & @ ia @) ve, ol off gear & gl &1 WR_edr 81 g ehar ?
(@ 1
(b) 0.5
(o0
(d) -1



